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How do you see it? 
Jen has 3 sweets. 
Her brother gave her 5 more sweets. 
How many sweets did Jen have then? 
 
Jeje had 10 toy cars 
He gave 4 of them to his friend Raj 
How many cars did Jeje have then? 
 
Su had 5 stickers 
Her mother gave her some more. 
Then Su had 9 stickers. 
How many stickers did her mother give him? 
 
Lily had 7 balloons.  
Some of them popped. 
Then Lily had 3 balloons. 
How many balloons had popped? 
 
Some children were going for a walk. 
3 more children joined them. 
Then there were 9 children. 
How many children were walking at the start? 
 
Sacha had some coins in his pocket. 
He lost 7 of them. 
Then he had 3 in his pocket. 
How many coins did he have at the start? 
 
Jim had 5 red marbles. 
Mimi had 4 blue marbles. 
How many marbles did they have altogether? 
 
The mother dog had 8 puppies. 
3 of them were brown and the rest where black. 
How many black puppies were there? 
 
My friend found 9 coins. 
Her sister, Jo found 6 coins. 
How many more coins did my friend have than Jo? 
 
Ann and Daeda were catching bugs 
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Ann caught 10 and Daeda caught 7. 
How many more bugs does Daeda need to catch to have as many as Ann? 
 
3 + 5 = [ ] 

10 – 4 =[ ] 

5 + [ ] = 9 

7 – [ ] = 3 

[ ] + 3 = 9 

[ ] – 7 = 3 

5 + 4 = [ ] 

8 – 3 = [ ] 

9 – 6 = [ ] 

10 – 7 = [ ]  
 


